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The football club has 400
litres of soup for the fans.
One cup of soup is 250ml.

How many fans can have
a cup of soup?
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Mum’s car holds 40 litres of 
petrol.

Dad’s van holds two and a
half times as much.

How much pretol does the van 
hold?
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Dad bought a 2kg bag of
carrots. 
He used 400 grams of
carrots to make soup with.
How many grams of 
carrots are left?

Year 5Copyright 2012 www.tpet.co.uk

There is 25% of prices in a 
sale.

How much do you get off
a £36 pair of shoes?

A £1.80 pair of socks?
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There is 365 ml of milk in
a jug.
Another 450 ml of milk is
added.
How much milk is in the
jug now?
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The deposit on a £230
chair is 50%.

How much is the deposit?
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